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PART A: Vocabulary Understanding
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the answer People ®
on your answer sheet. (Get Ready,...,
Reading,
121- Once cultures appeared, they never stopped changing and ..., and these Vocabulary
unstoppable changes are what we call “history”. Development)
1) choosing 2) developing Vo
3) communicating 4) finding YVE 10 axio
122- The heart is in a hurry to pump oxygenated blood, while the ... is in a hurry to comprehend the condition.
1) mind 2) point 3) activity 4) information
123- In December, I was allowed to go outside for the first time after ... two months inside hospitals.
1) largely 2) nearly 3) luckily 4) really

124- One of my best friends at college whose name is Jack has published more than 20 books ...
novels, poetry, and short stories.

1) since 2) including 3) together 4) despite
125- A diary is a book in which you can write down the ... you have had during a day, a month,
or a year.
1) experiences 2) means 3) continents 4) hosts

126- It is ... for everyone to be able to read the thoughts of another person. Therefore, you cannot be
absolutely sure what someone is thinking.
1) physical 2) native 3) honest 4) impossible
PART B: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice
on your answer sheet.

Learning a second language can be challenging, but there are some effective ways to make the
process easier. One of the best ways to learn a new language is through immersion. This
means surrounding yourself with native speakers or living in a country where the language
is spoken. Immersion allows you to practice your language skills in real-life situations, which
can improve your fluency and comprehension.

Another important aspect of language learning is regular practice. Setting aside dedicated time
each day to study and practice the language will yield better results than sporadic efforts. You can
practice by listening to podcasts, watching movies or TV shows in the target language,
reading books or articles, and engaging in conversations with native speakers.

Using a variety of resources can also enhance language learning. Textbooks, online courses,
language apps, and language exchange programs can provide a well-rounded learning experience.
Each resource offers different benefits and can cater to different learning styles.

127- What is the main idea of the passage?
1) Learning a second language is easy.
2) Language learning can only be done through textbooks.
3) Language exchange programs are the best way to learn a second language.
4) Immersion and regular practice are effective ways to learn a second language. 128- Which of the
following is an example of immersion in language learning?
1) Improving your English writing skill by writing your memories in English
2) Living in England to learn English as a second language
3) Reading lots of English books to get better at understanding English texts
4) Speaking with Persian native speakers to improve your English
129- We can understand from the passage that the word “sporadic” means
1) happening irregularly with no specific pattern
2) behaving in the same way over time
3) being knowledgeable, skilled and experienced
4) having the ability to understand something fully
130- Which of the following is NOT a resource that can help you with language learning, according to
the passage?
1) TV shows 2) Online courses 3) Letters and emails  4) Podcasts
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